Al SUNTOP

INSTALLATION INSTRUCTIONS

ULTIMATE TOP JL 4 DOOR
TOP AND HARDWARE

Fit on:
Jeep® Wrangler JLU 2018-
Partn. JLTT. .4

©) TO COMPLETE THE TOP YOU NEED FASTBACK WINDOWS OR CARGO TOP %

@ [MIXeI:WV-YHi CHECK ALL INSTRUCTIONS BEFORE INSTALLING THE PRODUCT
This product is designed to protect from ordinary weather conditions. It's not in any case

objects, or in event of an accident. This product is not a retaining system for vehicle occupants and for loaded material.

WEAR SEAT BELTS AT ALL TIMES

Failure in product installation could place occupants of the vehicle and other people in possibly dangerous situations.

CHECK AND FOLLOW FITTING INSTRUCTIONS PROPERLY

P

+70°F | fabric will relax loosing the packaging wrinkles.

O [IXTh1TeIY] Safety glasses should be worn at all times installing this products.

This product should be installed not below 70°F (21°C). Below this temperature fabric can contract
© +21°¢ | for 17 (2/3 cm) or more and installation become harder with a risk of breaks. Few days after fitting

a protection from falling

COMPONENT LIST Sy

HARDWARE n.1 Door channel right n.1 Door channel left

n.1 Windshield bar

n. 1 Tailgate bracket right
n.1 Tailgate bracket left

) ) n.1 Roomerang right
n.1 Vertical surround right n.1 Roomerang left

n. 1 Vertical surround left

n.1 Top bar

n.1 Tailgate bar with velcro

n.1 Central bar

—

n.2 protective film 12x4 cm
n.8 protective film 8x4 cm

SOFT TOP

n.2 Bikini Pulling Buckle

S

o ‘

n.1 Soft lifter

Online support: info@thesuntop.com



Al SSUNTC

INSTALLATION INSTRUCTIONS
)I° ULTIMATE TOP JL 4 DOOR

BOLTS AND NUTS

Part Qty Position
Hex Screw 8x75 6 1.3:4
Hex Screw 8x60 2 2
Flat washer 8x24 16(1234678
Nut nylon insert M8 8 1.234
Nut flange M8 2 6
Black torx 45 screw

M8 8 6,789
Button screw 5x12

mm 4 59
Nut flange M5 2 9
Nut nylon insert M5 2 5
Flat washer 5x10 2 5

BOLTS POSITION

TOOLS
N. 2 WRENCH 13 mm
N. 1 WRENCH 8 mm
P

N. 1 ALLEN WRENCH 3 mm
N. 1 ALLEN WRENCH 6 mm

g0
S’

/ﬁ pEESS..s--—————
]

<

N. 1 TORX WRENCH T45

Online support: info@thesuntop.com



INSTALLATION INSTRUCTIONS
Al SUNTOIP  ULTIMATE TOP JL 4 DOOR

3. Stick protective tape on 4. Fix vertical surround
points 1,2,3,4,6 (see page 2) (M5x12 + washer + SL nut)

e

4 v, i
6. Position door channels on the car

on the car
3 Online support: mfo@thesuntop.com



INSTALLATION INSTRUCTIONS
Al SUNTOIP  ULTIMATE TOP JL 4 DOOR

\ . -
7. Bolt 2(M8x60+2wash. 8. Bolt 3-4(M8x75+2wash. 9. Bolt6
+ SL nut) Nut up! + SL nut) Nut Down!

10. Insert windshield bar in front pocket  11. Insert central bar in middle top
[ L]
/’A

12. Position Top on the car and
secure it with Bolt 1 (with nuts, but do not tighten)

4 Online support: info@thesuntop.com



INSTALLATION INSTRUCTIONS
Al SUNTOIP  ULTIMATE TOP JL 4 DOOR

7 & /AR
13. Tighten Bolts 2,3,4 while you pull 14. Release Top buckles and verify
the door channel out front fabric on windshield seal

15. Tighten windshield bar nut 30Nm

16. Remove plastic covers from 17. Fit Roomerang
roll cage (pull)

[ Online support: info@thesuniop, com



INSTALLATION INSTRUCTIONS

Al SUNTOIP  ULTIMATE TOP JL 4 DOOR

18. Fix tailgate plate (help yourself 19. Position the top bar at the middle

with some tape) of the front space. _
Side inserts as in the picture.

20. Fix central bar lifter

6 Online support: info@thesuntop.com



INSTALLATION INSTRUCTIONS

Al SUNTOIP  ULTIMATE TOP JL 4 DOOR

W e

21. Pull the top from upper part of 22 Insert plastic strip into channel

rear belts

» FASTBACK WINDOWS

INSTRUCTIONS CONTINUE TOP — 3
CARGO TOP

7 Online support: info@hesuntop.com



Al SUNTOP

FASTBACK WINDOWS
COMPONENT LIST
n.1 Windows complete n. 1 Rear window
2 Doors

l:l-

n. 1 Windows slorage bag

1.

2. Insert upper bars

INSTALLATION INSTRUCTIONS
ULTIMATE TOP JL 4 DOOR

Online support: info@thesuntop. com



INSTALLATION INSTRUCTIONS
Al SUNTOIP  ULTIMATE TOP JL 4 DOOR

FASTBACK WINDOWS
=

2. Zip rear window
~ (halfaway on the side)

e —

4. Position vertical 5. Insert plastic stripes on both sides 6. Wrap around
Velcro rollcage

7. Fix tailgate bar 8. Position the dustguard inside

g Online support: info@thesuniop.com



? INSTALLATION INSTRUCTIONS
A SUNTOIP ULTIMATE TOP JL 4 DOOR
_—

FASTBACK WINDOWS

9. Use dustguard to fix rear window once you rolled it in

10 Online support. info@thesuntop.com



INSTALLATION INSTRUCTIONS
Al SUNTOIP  ULTIMATE TOP JL 4 DOOR

CARGO WINDOWS

COMPONENT LIST

n.1 Cargo Top 4 door n.1 Roll Cage cover R n.1 Roll Cage cover L

ATY

n.1 Metal

—_—

Part No. JLCT .. 4 Bar

1. Fit rollcage covers (safety belts can stay
in or out)

3. Position top on car 4. Attach vertical velcro

1 Onhine supporl. into@thesunlop.com



INSTALLATION INSTRUCTIONS
Al SUNTOIP  ULTIMATE TOP JL 4 DOOR

CARGO WINDOWS
]
? r

[

Hm T
||||'|

7. Temporarly fix velcro around 8. Clos Belt 2 and pullt
rollcage

9. Insert front part of plastic strip 10. Pull Belt 1 from both sides keeping
window centran;f
12 support. info@thesuntop.com



INSTALLATION INSTRUCTIONS
Al SSUNTOIP ULTIMATE TOP JL 4 DOOR

CARGO WINDOWS

11. Wrap vertical window around 12. Close the top upper belt
roll cage

LU
o | — -

Insert allﬁllastlc strip with 14. Place tailgate bar and fix velcro
speclal attention to corners giving to the top the right tension

. — i — R R wh_

» For rear safetg belts:

. pass through the reinforced
parts on the top making a
vertical cut (5cm / 27)

Att!

Belts can work only
as fixed belts.

13 Online support: info @thesuntop.com



